TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .

TRANSISTOR

1 01-2400120-A00 DIODE IN4001 1 D18

2 02-2235E70-A00 SMT DIODE DAN235E 1 D11

3 02-2356010-A00 SMT DIODE 1SS356 (1SS241&1SS314) 2 D1,D3

4 02-25350P0-A00 SMT VARICAP DIODE BB535 (1SV214) 4 D7,D08,D9,D10

5 02-2BAWS560-A00 SMT DIODE BAWS56 (EDS2836&1SS181) 1 D19

6 02-2J73262-A00 SMT DIODE MA2J732 SC-90A 1 D2

7 02-33904T0-A00 SMT TRANSISTOR MMBT3904 8 Q6,Q7,Q8,Q9,Q10

Q11,Q15,Q17

8 02-3490130-A00 SMT TRANSISTOR 2SC4901YK 5 Q1,Q2,Q3,Q4,Q21

9 02-38550SD-A00 SMT TRANSISTOR MPS8550S-D (SSA1197Y&2SA1298) 3 Q12,Q13,Q14

10 02-3390600-A00 SMT TRANSISTOR MMBT3906 5 Q16,Q18,Q19,Q26,Q27

11 02-4021020-A00 SMT FET 28K210Y 1 Q22

12 02-4030220-A00 SMT FET 2SK302G RF AMP 1 Q20

13  02-4032030-A00 SMT FET 3SK320 1 Q23

14 02-4347620-A00 SMT POWER MOS FET 2SK3476 1 Q24

15 02-4307820-A00 SMT POWER MOS FET 2SK3078 1 Q25

16 02-5U30740-A00 SMT VARICAP HVU307 3 D4,D5,D6

17 02-6171V47-A00 SMT LED LAMP YELLOW L-171VYC 2125 2 D12,D13

18 02-6190V46-A00 SMT LED LAMP YELLOW L-190VYW 1608 4 D14,D15,016,D17
IC

1 03-0207001-A00 SMT IC NJM2070 1 IC3

2 03-0032411-A00 SMT IC LM324M&DBL324V 1 IC8

3 03-8825B01-A00 SMT IC PLL SIT8825B01-R0B0 16-TSSOP-0044 1 IC5

4 03-4116FV1-A00 SMT IC BA4116FV 1 IC4

5 03-614012M-A00 SMT IC XC61FC4012MR 1 IC9

6 03-6204502-A00 SMT IC XC6204B502MR 1 IC7

7 03-75S01F1-A00 SMT IC TA75S01F 1 IC1

8 03-78F94E9-A00 SMT IC FLASH MEMORY UPD78F9418 1 IC6

9 03-24C16N1-A00 SMT IC EEPROM AT24C16N-10SI2.7 1 IC2
CRYSTAL

1 04-221435W-A00 CRYSTAL FILTER 21.4MHz +/-7.5KHz 2 F1,F2

2 04-32952C8-A00 CRYSTAL 20.95MHz UM-1 +/-5PPM 1 X1

3 04-341923C-S55 CRYSTAL 4.1943MHz (+/-30PMM) NC-3 1 X2

4 04-545015A-A00 CERAMIC FILTER 450KHz (LTM450EW) +/-7.5KHz 1 F3
IFT

1 05-200022B-A00 IFT A002 1 T

2 05-330203B-A00 SMT FM COIL 3.0T*D2.0*0.5mm (-) CW 1 L6

Page: 1 of 7



TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .

3 05-340203B-A00 SMT FM COIL 4.0T*D2.0*0.5mm (-) CW 4 L1,L2,L7,L8

4 05-350303B-A00 SMT FM COIL 5.0T*D3.0*0.5mm (-) CW 1 L23

5 05-360303B-A00 SMT FM COIL 6.0T*D3.0*0.5mm (-) CW 1 L22

6 05-8105030-A00 SMT CHOKE 3225 1UH (1ROM/K) 1 L9

7 05-8151044-A00 SMT INDUCTOR 2012 15nH +/-2% (C2012C-15NG) 1 L4

8 05-8181043-A00 SMT INDUCTOR 2520 18nH +/-2% (C2520C-18NG) 1 L5

9 05-8221043-A00 SMT INDUCTOR 2520 22nH +/-2% (C2520C-22NG) 1 L11

10 05-8225035-A00 SMT CHOKE 2520 2.2UH +/-10% (ELJFC2R2KF) 2 L17,L26

11 05-8271043-A00 SMT INDUCTOR 2520 27nH +/-2% (C2520C-27NG) 1 L24

12 05-8391043-A00 SMT INDUCTOR 2520 39nH +/-2% (C2520C-39NG) 2 L15,L16

13 05-8474013-A00 SMT INDUCTOR 2520 470nH +/-5% (C2520C-R47J) 1 L27

14 05-8561043-A00 SMT INDUCTOR 2520 56nH +/-2% (C2520C-56NG) 1 L3

15 05-8681043-A00 SMT INDUCTOR 2520 68nH +/-2% (C2520C-68NG) 2 L28,L29

16 05-A105026-A00 CHIP FERRITE INDUCTOR 1608 1UH +/-10% (SDFL1608Q1R0) 1 L10

17 05-A225026-A00 CHIP FERRITE INDUCTOR 1608 2.2UH +/-10% (SDFL1608Q2R2) 2 L18,L19

18 05-B104016-A00 CHIP CERAMIC INDUCTOR 1608 100nH +/-5% 2 L20,L25

19 05-B471016-A00 CHIP CERAMIC INDUCTOR 1608 47nH +/-5% 3 L12,L13,L14

CHIP RESISTOR PARTS

1 06-5102731-A00 CHIP RES 1608 1K OHM 1/10W +/-5% 6 R29,R30,R31,R54,R63
R108

2 06-5222731-A00 CHIP RES 1608 2.2K OHM 1/10W +/-5% 6 R32,R40,R53,R94,R95
R109

3 06-5332731-A00 CHIP RES 1608 3.3K OHM 1/10W +/-5% 5 R12,R14,R41,R67,R112

4 06-5472731-A00 CHIP RES 1608 4.7K OHM 1/10W +/-5% 1" R28,R36,R37,R38,R44
R99,R106,R130,R131,R132
R133

5 06-5562731-A00 CHIP RES 1608 5.6K OHM 1/10W +/-5% 3 R48,R90,R97

6 06-5103731-A00 CHIP RES 1608 10K OHM 1/10W +/-5% 15 R39,R42,R46,R49,R50
R51,R52,R64,R86,R91
R105,R134,R135,R136,R137

7 06-5123731-A00 CHIP RES 1608 12K OHM 1/10W +/-5%. 1 R96

8 06-5153731-A00 CHIP RES 1608 15K OHM 1/10W +/-5% 2 R45,R89

9 06-5203731-A00 CHIP RES 1608 20K OHM 1/10W +/-5% 2 R93,R123

10 06-5223731-A00 CHIP RES 1608 22K OHM 1/10W +/-5% 4 R84,R88,R92,R98

11 06-5273731-A00 CHIP RES 1608 27K OHM 1/10W +/-5% 1 R13

12 06-5303731-A00 CHIP RES 1608 30K OHM 1/10W +/-5% 2 R116,R117

13 06-5333731-A00 CHIP RES 1608 33K OHM 1/10W +/-5% 1 R11

14 06-5363731-A00 CHIP RES 1608 36K OHM 1/10W +/-5% 2 R107,R120

15 06-5393731-A00 CHIP RES 1608 39K OHM 1/10W +/-5% 1 R33

16 06-5473731-A00 CHIP RES 1608 47K OHM 1/10W +/-5%. 13 R18,R19,R20,R21,R22
R23,R43,R68,R74,R75
R77,R101,R114

17 06-5563731-A00 CHIP RES 1608 56K OHM 1/10W +/-5% 1 R126

18 06-5683731-A00 CHIP RES 1608 68K OHM 1/10W +/-5% 1 R80

Page: 2 of 7



TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .

19 06-5104731-A00 CHIP RES 1608 100K OHM 1/10W +/-5% 10 R65,R69,R70,R71,R72
R73,R81,R82,R83,R100

20 06-5124731-A00 CHIP RES 1608 120K OHM 1/10W +/-5% 1 R66

21 06-5154731-A00 CHIP RES 1608 150K OHM 1/10W +/-5% 2 R9,R10

22 06-5184731-A00 CHIP RES 1608 180K OHM 1/10W +/-5% 2 R35,R118

23 06-5224731-A00 CHIP RES 1608 220K OHM 1/10W +/-5% 1 R119

24 06-5304731-A00 CHIP RES 1608 300K OHM 1/10W +/-5% 2 R76,R103

25 06-5106731-A00 CHIP RES 1608 10M OHM 1/10W +/-10% 1 R102

26 06-5033731-A00 CHIP RES 1608 3.3 OHM 1/10W +/-5% 2 R25,R127

27 06-5047731-A00 CHIP RES 1608 4.7 OHM 1/10W +/-5% 1 R24

28 06-5100731-A00 CHIP RES 1608 10 OHM 1/10W +/-5% 1 R87

29 06-5220731-A00 CHIP RES 1608 22 OHM 1/10W +/-5% 2 R58,R111

30 06-5470731-A00 CHIP RES 1608 47 OHM 1/10W +/-5% 3 R15,R16,R17

31 06-5560731-A00 CHIP RES 1608 56 OHM 1/10W +/-5% 2 R62,R85

32 06-5101731-A00 CHIP RES 1608 100 OHM 1/10W +/-5% 7 R47,R55,R56,R57,R59
R60,R61

33 06-5221731-A00 CHIP RES 1608 220 OHM 1/10W +/-5% 8 R1,R2,R3,R4,R5
R6,R7,R8

34 06-5471731-A00 CHIP RES 1608 470 OHM 1/10W +/-5% 3 R26,R27,R34

35 06-7103253-A00 ROTARY POTENTIOMETER W/SW A10K RD810S-AA1-A103 8mm 1 VR4

36 06-8103153-A00 ROTARY POTENTIOMETER B10K RD810N-AA1-B103 8mm 1 VR2

37 06-A103117-A00 SMT SEMT-FIXED 10K EVM3YSX50B14 4 VR1,VR3,VR5,VR6

38 06-C101082-A00 CHIP NTC THERMISTOR 100 OHM +/-3% (1608101H3250) 1 RT1

39 06-D103432-A00 CHIP RESISTOR ARRAY 10K OHM 1/16W +/-5% 1 R125

40 06-D203432-A00 CHIP RESISTOR ARRAY 20K OHM 1/16W +/-5% 2 R78,R124

CAPACITOR PARTS

1 07-410644C-A00 ELECT CAP 10UF 25V (D4*5mm) 3 C135,C136,C148

2 07-422634C-A00 ELECT CAP 22UF 16V +/-20% (D4*5mm) 2 C113,C138

3 07-4107244-A00 ELECT CAP 100UF 16V +/-20% (D5*8mm) 2 C134,C137

4 07-410734E-A00 ELECT CAP 100UF 16V (D6*5mm) 2 C132,C133

5 07-5005601-A00 CHIP CAP 1608 0.5PF 50V +/-0.25PF NPO 2 C70,C169

6 07-5010601-A00 CHIP CAP 1608 1PF 50V +/-0.25PF NPO 4 C21,C82,C130,C131

7 07-5030601-A00 CHIP CAP 1608 3PF 50V +/-0.25PF NPO 3 C53,C68,C127

8 07-5040601-A00 CHIP CAP 1608 4PF 50V +/-0.25PF NPO 3 C64,C72,C170

9 07-5050601-A00 CHIP CAP 1608 5PF 50V +/-0.25PF NPO 2 C125,C126

10 07-5060601-A00 CHIP CAP 1608 6PF 50V +/-0.25PF NPO 1 C81

11 07-5070601-A00 CHIP CAP 1608 7PF 50V +/-0.25PF NPO 2 C88,C150

12 07-5080601-A00 CHIP CAP 1608 8PF 50V +/-0.25PF NPO 4 C59,C76,C77,C78

13 07-5100601-A00 CHIP CAP 1608 10PF 50V +/-0.25PF NPO 7 C60,C61,C62,C63,C74
C110,C162

14 07-5120631-A00 CHIP CAP 1608 12PF 50V +/-5% NPO 3 C5,C6,C7

15 07-5150631-A00 CHIP CAP 1608 15PF 50V +/-5% NPO 5 C10,C56,C57,C58,C71

16 07-5180631-A00 CHIP CAP 1608 18PF 50V +/-5% NPO 3 C1,C2,C3

17 07-5200631-A00 CHIP CPA 1608 20PF 50V +/-5% NPO 1 ce7

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.

MARINE USA VERSION

Page: 3 of 7



TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .

18 07-5220631-A00 CHIP CAP 1608 22PF 50V +/-5% NPO 4 C52,C73,C75,C107

19 07-5300631-A00 CHIP CAP 1608 30PF 50V +/-5% NPO 3 C65,C66,C151

20 07-5330631-A00 CHIP CAP 1608 33PF 50V +/-5% NPO 2 C8,C124

21 07-5470631-A00 CHIP CAP 1608 47PF 50V +/-5% NPO 3 C9,C11,C16

22 07-5101631-A00 CHIP CAP 1608 100PF 50V +/-5% NPO 7 C13,C55,C69,C80,C83
C84,C168

23 07-5221661-A00 CHIP CAP 1608 220PF 50V +/-10% X7R 4 C142,C143,C145,C161

24 07-5331661-A00 CHIP CAP 1608 330PF 50V +/-10% X7R 1 C4

25 07-5471661-A00 CHIP CAP 1608 470PF 50V +/-10% X7R 5 C153,C154,C155,C156,C157

26 07-5821661-A00 CHIP CAP 1608 820PF 50V +/-10% X7R 2 C146,C163

27 07-5102661-A00 CHIP CAP 1608 0.001UF 50V +/-10% X7R 43 C12,C14,C15,C17,C18
C19,C22,C23,C24,C25
C26,C27,C28,C29,C30
C31,C32,C33,C34,C35
C36,C37,C38,C39,C42
C43,C44,C45,C46,C49
C51,C54,C86,C98,C104
C108,C109,C129,C164,C166
C167,C171,C172

28 07-5103671-A00 CHIP CAP 1608 0.01UF 50V +80-20% Y5V 15 C41,C50,C85,C89,C90
C91,C92,C93,C94,C95
C96,C99,C102,C106,C141

29 07-5104681-A00 CHIP CAP 1608 0.1UF 50V +80-20% Y5V 15 C47,C103,C105,C112,C114
C115,C116,C117,C118,C119
C120,C121,C128,C140,C144

30 07-5223451-A00 CHIP CAP 1608 0.022UF 25V +/-10% X7R 1 C159

31 07-5332651-A00 CHIP CAP 1608 0.0033UF 50V +/-10% X7R 1 C79

32 07-5333661-A00 CHIP CAP 1608 0.033UF 50V +/-10% X7R 1 C139

33 07-5472651-A00 CHIP CAP 1608 0.0047UF 50V +/-10% X7R 3 C20,C48,C123

34 07-5473361-A00 CHIP CAP 1608 0.047UF 16V +/-10% X7R 2 C160,C165

35 07-5474671-A00 CHIP CAP 1608 0.47UF 16V +80-20% Y5V 1 C40

36 07-5105281-A00 CHIP CAP 1608 1UF 10V +80-20% Y5V 6 C97,C100,C101,C111,C122
C147

37 07-6225343-A00 SMT TAN CAP 3216 2.2UF 16V +/-20% 2 C87,C158

38 07-9100956-A00 SMT TRIMMER ELE CAP 10PF (CTCO3E100) 1 VCi1

39 07-C2206E1-A00 SMT CERAMIC CAP(UJ) 1608 22PF 50V +/-5% 1 C149

40 07-C5606E1-A00 SMT CERAMIC CAP(UJ) 1608 56PF 50V +/-5% 1 C152

CONNECTOR PARTS

1 08-0M340A0-A00 ANTENNA CONNECTOR HEAD (TNC) 1

2 08-3864266-A00 SMD 2*4PIN FEMALE HEADER 1.27MM 1 J1

3 08-5060304-A00 PVC WIRE 28# BLACK 60mm (3+3) 1

4 08-5060324-A00 PVC WIRE 28# RED 60mm (3+3) 1

5 08-A254812-A00 SILICONE INTERCONNECTOR “SP” Pitch:0.18mm L25.0*W4.8*H1.5mm 1

Page: 4 of 7



TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .
METAL PARTS
1 30-1200535-A00 SCREW M2.0*5.0mm PM S/S 6
2 30-1200665-A00 SCREW M2.0*6.0mm PB (T3P) S/S 2
3 30-102806J-A00 SCREW M2.0*8.0mm PB (Black) IRON+NI 3
4 30-1201235-A00 SCREW M2.0*12.0mm PM S/S 1
5 30-1202565-A00 SCREW M2.0*25.0mm PB S/S 1
6 30-1300935-A00 SCREW M3.0*9.0mm PM S/S 1
7 32-5901813-A00 ANTENNA NUT M9.0*1.8mm (Cu) 1
8 32-5902603-A00 SWITCH NUT 2
9  35-0M34L05-A00 BATTERY LOCK PLATE 1
10 35-0M34N12-A00 BATTERY LOCK NUT 1
11 35-5MR3407-A00 HEAT SINK (AL) 1
12 35-1M34L15-A00 LCD MOUNTING PLATE 1
13 35-7M34015-A00 VCO SHIELD CASE (STEEL) 1
14 35-9340A12-A00 ANTENNA HEAD 1
15 36-AD51815-A00 METAL DOME D5-RNW-180 2 For PTT/Lamp
PLASTIC ASSESSRIOES
1 40-1M34F19-A00 FRONT HOUSING (PC) (Q716-1-1 Black) 1
2 40-1M34B19-A00 BACK HOUSING (PC) (Q716-1-1 Black) 1
3 40-6M40L06-A00 LCD PROTECT LENS (PMMA) (8422C) 1
4 44-6M34L06-A00 LCD BACK LIGHT PLATE (PMMA) 1
5 40-7TM34A17-A00 RUBBER DUCK ANTENNA SLEEVE (PU) (Q716-1-2 Grey) 1
6 40-0M34P19-A00 PTT MOUNT PLATE (PC) (Q716-1-1 Black) 1
7  40-3M34A19-A00 ANTENNA CAP (PC) (Q716-1-2 Grey) 1
8 40-8M34B19-A00 BELT CLIP (PC) (Q716-1-1 Black) 1
9 40-0M34B09-A00 BELT MOUNT BASE (PC) (Q716-1-1 Black) 1
10 40-0M34C09-A00 CONTACT PLATE MOUNT BASE (PC) (Q716-1-1 Black) 1
11 40-AM34P12-A00 PTT KEY (Silicone) (Q716-1-1 Black) 1
12 40-AM34C12-A00 CHANNEL KEY (Silicone) (433 Grey) 1
13  40-AM34S12-A00 SCAN/MEM KEY (Silicone) (433 Grey) 1
14 40-AM34W12-A00 WX KEY (Silicone) (433 Grey/201 Red) 1
15 40-4M34V11-A00 SQL/VOL KNOB (ABS) (Q716-1-2 Grey) 2
16 40-5M34U02-A00 RUBBER RING FOR UNIT (Silicone) (Q716-1-1 Black) 1
17 40-5M34P02-A00 RUBBER WASH FOR PTT (Silicone) (Q716-1-1 Black) 1
18 43-5006021-A00 SINGLE COATED SPONGE L6*W5*H2MM 3
19  44-1375000-A00 FELT D=37.5mm 1 FOR SPEAKER
20 44-D095402-A00 WATERPROOF FILM D9.5mm 1 FOR MIC
PACKING ACCESSORIES
1 60-1MRH400-A00 CARTON 0.1
2 60-2MRH400-A00 GIFT BOX 1
3 60-8MRH400-A00 PAPER PULP BOX 1

Page: 5 of 7



TEKCOM CODE NO.: TM886B-USA-1
CUSTOMER MODEL : MRHH400
CUSTOMER : Cobra

POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ISSUE: 3.01 22 JUL, 03
ISSUE: 4.01 22 AUG, 03

ITEM _ __ _PARTNO __ __ ___ __DESCRPTON _ QY __ ___ __LOCATON _ ___ .
4 62-1200802-A00 PE PVC BAG: 80*120mm (T=0.03mm JikE) 1
5 62-1500902-A00 PE PVC BAG: 90*150mm (T=0.03mm) 1
6 62-2500602-A00 PE PVC BAG: 60*250mm (T=0.03mm) 1
7 62-2501402-A00 PE PVC BAG: 140*250mm (T=0.03mm) 1
8 62-2502502-A00 PE PVC BAG: 250*250mm (T=0.03mm) 1
9 63-1MRH400-A00 INSTRUCTION BOOKLET 1
10 63-0MR340S-A00 SENSORMATIC DEVICE 1
11 63-0MR340C-A00 CHECKPOINT DEVICE 1
12 63-6MR340P-A00 PRODUCT REGISTRATION CARD 1
13  63-03040C4-A00 CUSTOMER ASSISTANCE CARD 1
14  64-1MRH400-A00 RATING LABEL 1
15 64-6MRH340-A00 SERIAL NO. LABEL 3 FOR Transceiver/ G/B / Carton
16 64-5MRH400-A00 BAR CODE LABEL (TM886B-USA-1) 0.4 FOR CARTON
OTHER PARTS
1 10-6012B34-A00 Ni-MH RECHARGEABLE BATTERY 1.2V 1300mAH AA BYD 6
2 11-40HT321-A00 SPEAKER D40mm 8 OHM 1W THX404 1 SP1
3 14-1MR3400-A00 LCD DISPLAY 1 LCD
4 16-54L.P451-A00 CONDENSER MIC EM-54L-P 1 M1
5 69-0320001-A00 HAND STRAP 180MM 1
PCB BOARD
1 13-1M340M1-A00 MAIN PCB 1
2 13-1M340P1-A00 PTT PCB 1
CRADLE CHARGER PART
1 01-6036211-A00 LED LAMP RED D3mm L-934HDLK 1
2 01-2400120-A00 DIODE IN4001 1
3 06-2330434-A00 RESISTOR 33 OHM 1W 1
4 06-5102731-A00 CHIP RES 1608 1K OHM 1/10W +/-5% 1
5 08-11C0052-A00 CHARGER JACK DC-005 1
6 13-1M340C1-A00 CHARGER PCB 1
7 30-102806J-A00 SCREW 2.0*8.0mm PB (BLACK) IRON+NI 4
8 30-1302355-A00 SCREW 3.0*23.0mm PA S/S 2 For Wall Hanger
9 35-3M34C13-A00 CHARGE CONTACT PLATE 2
10 35-3M34L13-A00 CHARGER LOCK (ABS) (Q716-1-1 Black) 1
11 40-1M34CB1-A00 CHARGER BASE (ABS) (Q716-1-1 Black) 1
12 40-1M34CT1-A00 CHARGER TOP 1
13  44-8060202-A00 RUBBER PAD D6.0*H2.0mm 4
14 64-1M400C1-A00 RATING LABEL FOR CHARGER 1
15 67-5712087-A00 ADAPTOR AC:120V/60Hz DC:12V/200mA "UL APPROVAL" 1

ALKALINEBATTERY CASE ASSEMBLY

Page: 6 of 7



TEKCOM CODE NO.: TM886B-USA-1

CUSTOMER MODEL : MRHH400 ISSUE: 3.01 22 JUL, 03
CUSTOMER : Cobra ISSUE: 4.01 22 AUG, 03
POWER : 5W

FUNCTION : Marine Handheld Transceiver, JIS 7, 7.2V Ni-MH Batt.
MARINE USA VERSION

ITEm ____PARTNO __ _ _ _ _____ __DESCRPTION _ o __OTY ___ ___ __LOCATON _ ___ .
1 01-2400120-A00 DIODE IN4001 1
2 06-1470436-A00 RESISTOR 47 OHM 1W +/-5% (S.S) 1
3 35-3M34B15-A00 METAL CONTACT PLATE (B) 3
4 35-3M34C15-A00 METAL CONTACT PLATE (C) 1
5 35-3M34D15-A00 METAL CONTACT PLATE (D) 1
6 35-3M34E15-A00 METAL CONTACT PLATE (E) 1
7  35-3M34F15-A00 METAL CONTACT PLATE (F) 1
8 35-3M34G15-A00 METAL CONTACT PLATE (G) 2
9 35-3M34H15-A00 METAL CONTACT PLATE (H) 2
10 35-3M34BP5-A00 BATTERY POSITIVE POWER CONTACT PLATE 1
11 35-3M34BN5-A00 BATTERY NEGATIVE POWER CONTACT PLATE 1
12 40-2M3AB19-A00 ALKALINE BATTERY CASE (PC) (Q716-1-1 Black) 1
13  40-5M34B02-A00 RUBBER RING FOR BATTERY (Silicone) (Q716-1-1 Black) 1
14 43-5006021-A00 SINGLE COATED SPONGE L6*W5*H2MM 6
15  44-3M34004-A00 PVC PLATE (BLACK) 1

Page: 7 of 7



